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QUESTION 1

A client needs to be able view a student\\'s career, program, and plan, and be able to see if they were term activated.
Which two components are required for the client to see this information? 

A. ACADEMIC_DEGREE 

B. STDNT_ACTIVATION 

C. STDNT_CAREER 

D. ACAD_PLAN 

E. STDNT_ENRL 

Correct Answer: AD 

 

QUESTION 2

Your client wants to set up the Academic Structure in such a way that all students in a particular academic career can
enroll in classes within another academic career without error. How should this setup be completed? 

A. Set all students with a default enrollment override for Career. 

B. Create a career-specific enrollment permission list for each student. 

C. Create a career pointer exception rule. 

D. Instruct all administrative users to use the Career override on Quick Enroll. 

E. Set up the appropriate Career Pointer on the Academic Career table. 

Correct Answer: B 

 

QUESTION 3

What are the three impacts of inactivating a course in the Course Catalog? 

A. The Academic Advising degree audit report will no longer accept enrollments in the course as having satisfied a
degree requirement. 

B. The course will not appear in the Browse Course Catalog component. 

C. The course cannot be scheduled in any term past the inactivation date. 

D. The course appears as inactive on the transcript. 

E. The Course ID will not be assigned to new courses. 

Correct Answer: ACD 
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QUESTION 4

Your client needs two different transcripts for two different schools within an institution (for example, two different
transcripts for a medical school and a business school). How would you accommodate this difference? 

A. Build a customization for Transcript Type that would allow for a different look-and-feel, 

B. Change the delivered COBOL process so that it produces different results for the two schools. 

C. Use the Request Transcript Report component to generate one school\\'s transcript and the Transcript Request to
generate the other. 

D. Create two different transcripts by using the XML functionality and apply them to the appropriate transcript types. 

E. Create two different transcripts by using Crystal Reports. 

Correct Answer: B 

 

QUESTION 5

Your client has created a prerequisite that requires a student to pass a lower-level course before enrolling in the next
level course (that is, English 101 before English 102). When students who are currently enrolled in the lower-level
course try to enroll in the next level course, they receive an error in Self Service that they have not met the established
prerequisite for that class. 

Which two actions should you take to allow students to enroll in the next level course while they are currently enrolled in
the prerequisite, and still excluding students who do not pass? 

A. Temporarily remove the prerequisite from the course. 

B. Assign students in the lower-level course to a Student Group and collectively enroll students who pass after grades
have been assigned. 

C. On the Requirement Group page, deselect the Exclude in Progress Credit check box. 

D. Enroll students who pass in the upper-level course by using Block Enroll. 

E. After grades have been posted, run the Post Enrollment Requirement Checking (PERC) process to drop students
who did not pass the prerequisite course. 

Correct Answer: E 
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